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O O0A 0000000

#include <stdio.h>
#include <vector>
#include <math.h>
#include "laplace.h"
#define N 8000

using namespace std;
void sor(int n, vector < vector <double> > a, double b[],double ull);

void rot(int nelm, int node,
int mtj[] [4],double px[], double pyl],
double u[], double Hr[], double Hz[]);

void syutsuryoku(int node,double ul[],double Hr[],double Hz[]);

vector < vector <double> > A;
int i,j,k;
double d[N],ul[N],Hr[N],Hz[N] ,mu[N];

int nelm, node;

int mtj[N][4], jac[N][4], idm[N];

double px[N], py[N],triangle,xm,pai,jc;

int pt_bc_k[N];
double pt_bc_v[N];
double x1, x2, x3, yl, y2, y3;

pai = 4*atan(1);
jc = 1000;
A.resize(N);
for( i=0; i <=N-1; i++){
A[i] .resize(N);
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/* */
/ 000 */
/% */
for( i=0; i <=N-1; i++){
for( j=0;j <=N-1; j++){
A[i][j1=0;

¥

for( i=0; i <=N-1; i++){

dlil  =0;
ulil] =1;
Hr[i] =0;
Hz[i] =0;
muli] =1;
}
Y et et */

read_data(&nelm, &node, mtj, jac, idm, px, py, pt_bc_k, pt_bc_v, "sampled");

for(i=1; i <=nelm; i++){
x1=px[mtj[i] [11]; /*z=x r=y*/
yil=py[mtj[i] [1]1];
x2=px [mtj[i] [2]];
y2=py [mtj[i] [2]1];
x3=px [mtj[i] [3]];
y3=py [mtj[i] [3]1];

[Hmmmmmmmmmm O000--————————————mmmmmmm oo */
if(idm[i] == 2){
mul[i] = 5000;
}

Y e ettt *x/

triangle=((x2-x1)*(y3-y1) - (x3-x1) *(y2-y1));
xm=(x1+x2+x3)/3.0;

Almtj[i] [1]] [mtj[i] [11] += (((x2-%3)*(x2-x3)+(y2-y3)*(y2-y3) ) *xm/triangle
+2x(y2-y3)/3.0+2*triangle/ (12*xm)) /mu[i] ;
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Almtj[i] [1]] [mtj[i] [2]] += (((x3-x1)*(x2-x3)+(y3-y1)*(y2-y3))*xm/triangle
+(y2-y1)/3.0+triangle/(12*xm)) /mu[i];

Afmtj[i] [11] [mtj (i1 [3]1] += (((x1-x2)*(x2-x3)+(y1-y2)*(y2-y3))+*xm/triangle
+(y1-y3)/3.0+triangle/(12*xm)) /mu[i];

if (idm[i] == 3){d[mtj[i] [1]]=triangle*jc/3.0;}

Almtj[i] [2]1] [mtj (il [11] += (((x3-x1)*(x2-x3)+(y3-y1)*(y2-y3))*xm/triangle
+(y2-y1)/3.0+triangle/ (12*xm)) /mu[i];

Almtj[1]1 [2]] [mtj[i][2]] += (((x3-x1)*(x3-x1)+(y3-y1)*(y3-y1))*xm/triangle
+2% (y3-y1)/3.0+2*triangle/ (12*xm)) /mu[i] ;

Almtj[i] [2]] [mtj[i][3]] += (((x3-x1)*(x1-x2)+(y3-y1)*(yl-y2))*xm/triangle
+(y3-y2)/3.0+triangle/ (12*xm)) /mu[i];

if (idm[i] == 3){d[mtj[i] [2]]=triangle*jc/3.0;}

Almtj (1] [8]] [mtj[i] [1]1] += (((x1-x%2)*(x2-x3)+(y1l-y2)*(y2-y3))*xm/triangle
+(y1-y3)/3.0+triangle/(12*xm)) /mu[i];

Almtj[i] [3]] mtj[i][2]] += (((x1-%2)*(x3-x1)+(yl-y2)*(y3-y1))*xm/triangle
+(y3-y2)/3.0+triangle/ (12*xm)) /mu[i];

Almtj[1] [3]1] [mtj[i]1[3]1] += (((x1-x2)*(x1-x2)+(y1-y2)*(yl-y2))*xm/triangle
+2x(y1-y2)/3.0+2*triangle/ (12*xm)) /mu[i] ;

if (idm[i] == 3){d[mtj[i] [3]]=trianglexjc/3.0;}

}
/* */
/* 0000 %/
/*== */
for(i=1; i <= nelm; i++){
for(j=1; j <=3; j++){
if (pt_bc_k[mtj[i1[j11 == 1){
for(k=1; k <= node; k++){
Almtj[i][j1]1 [k]1=0;
if(mtj[i] [j] == k{
Almtj[i] [j1] [k]=1;
}
}
dlmtj[i] [j1]=pt_bc_vImtj[i] [j1];

}
}
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/* for(i=1; i <=node; i++){
for(j=1; j<=node; j++){
if (fabs(i-j)<5){
printf ("A[%d] [%d]=%1f\n",i,j,ALi] [j1);}}} =/

/% */
/= 0 0000000000000 =x/
/* */
sor(node,A,d,u);
/* for(i=1; i <=node; i++){
printf ("%1f %1f %1lf\n",px[il, pyl[il,ulil);
}
x/
/* ==x/
/= 000MMO0O0000 =x/
JH== S — —=x/

rot(nelm, node, mtj, px, py, u, Hr, Hz);
/* for(i=1; i <=node; i++){
printf ("%1f %1f %1f %1f\n",px[i], pyl[i],Hr[i],Hz[i]);
I/

syutsuryoku(node,u ,Hr ,Hz);

return(0) ;

void sor(int n, vector < vector <double> > a, double b[],double ull){

int i,j,k,1;

double inv_a,ul([N],w;

1;
1.8475;

=
]

for(k=1; k<=200 ; k++){
printf ("%d\n",k);
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for(i=1; i<=n ; i++){
inv_a = 1.0/ali] [i];

ulli] = b[il;
for(j=1 ; j<=n ; j++){
if(i 1= )
ulli] -= ali]l [j1*ulj];
}
}

ull[i] *= inv_a;

uli] += wx(ui[il-ulil);

[ R O000000000000 =====———m—mm—mm e e x/
void rot(int nelm, int node,int mtj[][4],

double px[], double pyll],

double ul[l, double Hr[], double Hz[]1){

int i;

int add[10000];

double xi,xj,xk,yi,yj,yk;
double delta,al,be,gan;

for(i=1 ;i<=node ;i++ ){
add[i] = 0;
}

for(i=1; i<=nelm ;i++){

xi=px[mtj[i] [1]1];
yi=py[mtj[i] [1]];
xj=px[mtj[i] [2]1];
yj=py[mtj[i] [2]];
xk=px [mtj[1] [3]];
yk=py [mtj[i] [3]];

delta = (xj-xi)*(yk-yi) - (yj-yi)*(xk-xi);

al = (xj*yk-yj*xk)*ulmtj[i] [1]] + (xi*yk-yi*xk)*ulmtj[i][2]] + (xi*yj-yi*xj)*ul[mtj[i][3]]
be = -((yk-yj)*ulmtjli]l[1]] + (yi-yk)*ulmtjli][2]] + (yi-yj)*ulmtjli]l[3]11);
gan = (xk-xj)*ulmtj[il [1]] + (xi-xk)*ulmtj[i][2]] + (xi-xj)=*ulmtj[i][3]1];

if(xi '= 0.0 && xj != 0.0 && xk !'= 0.0){
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Hr[mtj[i] [1]] += -be;
Hz[mtj[i] [1]] += (al+bex*yi)/xi+2*gan;

Hr[mtj[il [2]] += -be;
Hz[mtj[i] [2]] += (al+bex*yj)/xj+2*gan;

Hr[mtj[i] [3]] += -be;
Hz[mtj[i] [3]] += (al+bex*yk)/xk+2*gan;

add [mtj[i] [1]] += 1;
add[mtj[i][2]] += 1;
add[mtj[i] [3]1] += 1;

if(xi == 0.0 & xj != 0.0 && xk != 0.0){
Hrimtj[i] [1]1] += O;
Hz[mtj[i] [1]] += 2%gan;

Hr[mtj[i] [2]] += -2%Dbe;
Hz[mtj[i] [2]] += 2%gan;

Hr[mtj[i] [3]] += -2%Dbe;
Hz[mtj[i] [3]] += 2xgan;

add[mtj[i] [1]] += 1;
add[mtj[i] [2]] += 1;
add[mtj[i] [31] += 1;
}

if(xi !'= 0.0 && xj == 0.0 && xk != 0.0){
Hr [mtj[i] [1]] += -2xbe;
Hz[mtj[i] [11] += 2*gan;

Hrmtj[il[2]] += O;
Hz[mtj[i] [2]] += 2*gan;

Hr [mtj[i] [3]1] += -2xbe;
Hz[mtj[i] [3]] += 2*gan;

add[mtj[i] [1]] += 1;
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add[mtj[i] [2]] +=

add[mtj[i][3]1] += 1

}

if(xi !'= 0.0 && xj != 0.0 && xk == 0.0){

Hr[mtj[i] [1]] +=
Hz[mtj[i] [1]] +=

Hr[mtj[i] [2]] +=
Hz[mtj[i] [2]] +=

Hr[mtj[1i] [3]] +=
Hz[mtj[i] [3]] +=

add[mtj[i] [1]1] += 1
add[mtj[1][2]] += 1
add[mtj[i] [3]] += 1

}

-2xbe;

2%gan;

-2xbe;

2%gan;

0;

2%gan;

if(xi !'= 0.0 && xj == 0.0 && xk == 0.0){

Hr [mtj[i] [1]1] +=
Hz [mtj[i] [1]1] +=

Hr [mtj[i] [2]] +=
Hz[mtj[i] [2]] +=

Hr [mtj[i] [3]] +=
Hz [mtj[i] [3]1] +=

add[mtj[i][1]] +=

add[mtj[1][2]] += 1

add[mtj[i] [3]] +=
}

0;

2%gan;

if(xi == 0.0 && xj !'= 0.0 && xk == 0.0){

Hr[mtj[i] [1]] +=
Hz[mtj[i] [1]] +=

Hr[mtj[i] [2]] +=
Hz[mtj[i] [2]] +=

Hr[mtj[i] [3]] +=

0;
2%gan;

0;
2%gan;

0;
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Hz[mtj[i] [3]] += 2%gan;

add[mtj[i]l [11] += 1;
add [mtj[i] [2]] += 1;
add[mtj[i]l [3]1] += 1;
}

if(xi == 0.0 && xj == 0.0 && xk !'= 0.0){
Hrmtj[i] [11] += O;
Hz[mtj[i] [1]] += 2%gan;

Hrmtj[i][2]] += O;
Hz[mtj[i] [2]] += 2%gan;

Hrmtj[i][3]1] += O;
Hz[mtj[i] [3]] += 2%gan;

add[mtj[i] [1]1] += 1;
add[mtj[i] [2]] += 1;
add[mtj[i]l [3]1] += 1;
}
}

for(i=1 ;i<=node ;i++ ){

Hr[i] /= addl[il;

Hz[i] /= add[il;

}

}

[Hmmmmm e 00000000000 -—----——--————————————————
void syutsuryoku(int node,double u[],double Hr[],double Hz[]){

int i;

FILE *filename;

filename = fopen("sampled.field","w");
fprintf(filename,"$field\n");

for(i=1;i<=node;i++){

fprintf (filename, "%d\t%e\t%e\t%e\n" ,i,uli] ,Hr[i] ,Hz[i]);
}

fprintf(filename, "$end") ;
fclose(filename) ;
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